

Name: Opoola Daniel Oluwaseyi

Metric No  $\Rightarrow$  19/ENG05/056

Name of Course lecturer: Dr Oyelami's

Department: Mechatronics

Date Submitted: 3rd April, 2020

1)  $\lim_{x \rightarrow 0} \left[ \frac{(x - \cos x)}{x} \right]$

$$\lim_{x \rightarrow 0} \left[ \frac{(x - \cos x)}{x} \right]$$

Applying L'Hopital Rule

$$\lim_{x \rightarrow 0} \left[ \frac{(x - \cos x)}{x} \right] = \lim_{x \rightarrow 0} \left[ \frac{1 - (-\sin x)}{1} \right]$$

$$= \lim_{x \rightarrow 0} \left[ 1 + \sin(0) \right]$$

$$\lim_{x \rightarrow 0} \left[ \frac{1 + \sin x}{1} \right]$$

$$\lim_{x \rightarrow 0} \left[ \frac{1 + \sin(0)}{1} \right]$$

$$\lim_{x \rightarrow 0} \left[ \frac{1 + 0}{1} \right]$$

$$= \frac{1}{1}$$



2)  $y = -3 \tan 7x e^{3x}$  find  $dy/dx$

solving

$$y = e^{3x} \times (-3 \tan 7x)$$

let  $u = e^{3x}$  and  $v = -3 \tan 7x$

$$du/dx = 3e^{3x}$$

$$dv/dx = -21 \sec^2 7x$$

$$\frac{dy}{dx} = v \left( \frac{du}{dx} \right) + u \left( \frac{dv}{dx} \right)$$

$$\frac{dy}{dx} = -3 \tan(7x) (3e^{3x}) + e^{3x} (-21 \sec^2(7x))$$

$$= -3 \tan 7x 3e^{3x} - 21 \sec^2(7x) e^{3x}$$

$$= e^{3x} (-9 \tan 7x - 21 \sec^2 7x)$$



$$3) y = \cos 3x$$

$$f(3x) = \cos 3x$$

$$f'(3x) = \lim_{\Delta x \rightarrow 0} \frac{f(3(x+\Delta x)) - f(3x)}{\Delta x}$$

$$= \lim_{\Delta x \rightarrow 0} \frac{\cos 3(x+\Delta x) - \cos(3x)}{\Delta x}$$

$$= \lim_{\Delta x \rightarrow 0} \frac{\cos(3x + 3\Delta x) - \cos(3x)}{\Delta x}$$

Using trig formulae  $\cos(A+B) = \cos A \cdot \cos B - \sin A \cdot \sin B$  where  $A = 3x$  and  $B = 3\Delta x$

$$= \lim_{\Delta x \rightarrow 0} \frac{\cos(3x) \cdot \cos(3\Delta x) - \sin(3x) \cdot \sin(3\Delta x) - \cos(3x)}{\Delta x}$$

$$= \lim_{\Delta x \rightarrow 0} \frac{\cos 3x (1 - \cos(3\Delta x)) - \sin(3x) \sin(3\Delta x)}{\Delta x}$$

Remember  $\lim_{x \rightarrow a} (f(x) + g(x)) = \lim_{x \rightarrow a} f(x) + \lim_{x \rightarrow a} g(x)$

$$= \cos 3x \lim_{\Delta x \rightarrow 0} \frac{\cos 3\Delta x - 1}{\Delta x} - \sin 3x \lim_{\Delta x \rightarrow 0} \frac{\sin 3\Delta x}{\Delta x}$$

note:  $\cos 3x$  and  $-\sin 3x$  don't depend on  $\Delta x$

$$= \cos 3x \cdot 3 \lim_{3\Delta x \rightarrow 0} \frac{\cos 3\Delta x - 1}{3\Delta x} - \sin 3x \cdot 3 \lim_{3\Delta x \rightarrow 0} \frac{\sin 3\Delta x}{3\Delta x}$$

$$= \cos 3x \cdot 3 \cdot 0 - \sin 3x \cdot 3 \cdot 1$$

$$= -3 \sin 3x \cdot 3 = -3 \sin 3x$$

$$f'(3x) = \frac{d}{dx} [\cos(3x)] = -3 \sin 3x$$

note:  $\lim_{\theta \rightarrow 0} \frac{\cos \theta - 1}{\theta} = 0$

$\lim_{\theta \rightarrow 0} \frac{\sin \theta}{\theta} = 1$



Given that  $f(x) = 2x^3 - 7x$  and  $g(x) = -3x$  find  $(f-g)(5)$

$$A) \quad f(x) = 2x^3 - 7x, \quad g(x) = -3x$$

$$(f-g) = 2x^3 - 7x - (-3x)$$

$$= 2x^3 - 7x + 3x$$

$$= 2x^3 + 10x$$

$$(f-g)5 = (2x^3 + 10x)5$$

$$= \underline{\underline{10x^3 + 50x}}$$

5)  $f \circ g(x)$  if  $f(x) = 4x^2 + 2$  and  $g(x) = 2x + 3$

$$= f(g(x)) = f(2x + 3)$$

$$= 4(2x + 3)^2 + 2$$

$$= 4(4x^2 + 12x + 9) + 2$$

$$= 16x^2 + 48x + 36 + 2$$

$$f \circ g(x) = \underline{16x^2 + 48x + 38}$$



$$6) \quad x^2 + 2xy + y^2 = 1020$$

$$2x + 2y \frac{dy}{dx} + 2y + 2y \frac{dy}{dx} = 0 \quad dx$$

$$\therefore 2x + 2y + \frac{dy}{dx} (2x + 2y) = 0$$

$$\frac{dy}{dx} = \frac{0 - 2x - 2y}{2x + 2y}$$

$$\frac{dy}{dx} = \frac{-2(x+y)}{2(x+y)}$$

$$\frac{dy}{dx} = \frac{-(x+y)}{(x+y)}$$

$$\frac{dy}{dx} = -1$$



$$7) \quad f(x) = x^2 \cos x$$

using product rule

$$u = x^2 \quad v = \cos x$$

$$\frac{du}{dx} = 2x \quad \frac{dv}{dx} = -\sin x$$

$$\frac{dy}{dx} = v \left( \frac{du}{dx} \right) + u \left( \frac{dv}{dx} \right)$$

$$\frac{dy}{dx} = \cos x (2x) + x^2 (-\sin x)$$

$$= 2x \cos x - x^2 \sin x$$